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Find the Correct Answers
Solve each problem. Circle the correct solutions. There may be more than one.

63 – 47 = 16

3 � 10 � 3 = 16
63 60 50 47 

+3 +3+10

25¢  �  25¢  =  50¢

50¢ � 25¢ � 1¢
= 24

1. 63
� 47

63
� 47

24

63
� 47

26

2. 50
� 26

3. 41
� 39

41
� 39

18

Problem Solution A Solution B Solution C
13

50
� 26

24

50
� 26

36

104

41
� 39

12

11

39, 40, 41

2
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37 38 39
47 48 49
57 58 59
67 68 69
77 78 79

Problem Solution A Solution B Solution C

1 � 7 = 8
27 � 19 = 8

272019

+1 +7

4. 78
� 38

5. 27
� 19

6. 61
� 19

59
� 19

27
� 19

18

27
� 19

12

5 skinnies and 0 bits
50 � 0 = 50

78 = 70 + 8 
 38 = 30 + 8 

40 + 0 = 40

17

61
� 19

52

11
61

� 19
42

115

40 � 2 = 42

61 � 2 = 59

10 � 10 � 10 � 10 = 40


